
Opérations avec deux fractions mixtes (J)

Nom: Date: Note:

Calculez chaque résultat.

1. 514 − 114 =

2. 113 × 512 =

3. 537 + 237 =

4. 479 ÷ 514 =

5. 512 × 135 =

6. 518 × 158 =

7. 513 + 313 =

8. 512 − 112 =

9. 538 − 258 =

10. 512 + 212 =
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Opérations avec deux fractions mixtes (J) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 514 − 114 = 21
4 − 5

4 = 16
4 = 4

1 = 4

2. 113 × 512 = 4
3 ×

11
2 = 44

6 = 22
3 = 713

3. 537 + 237 = 38
7 + 17

7 = 55
7 = 767

4. 479 ÷ 514 = 43
9 ÷ 21

4 = 43
9 × 4

21 = 172
189

5. 512 × 135 = 11
2 × 8

5 = 88
10 = 44

5 = 845

6. 518 × 158 = 41
8 × 13

8 = 533
64 = 82164

7. 513 + 313 = 16
3 + 10

3 = 26
3 = 823

8. 512 − 112 = 11
2 − 3

2 = 8
2 = 4

1 = 4

9. 538 − 258 = 43
8 − 21

8 = 22
8 = 11

4 = 234

10. 512 + 212 = 11
2 + 5

2 = 16
2 = 8

1 = 8
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